


INTERSECTING POINT OF TWO LINES

(i) ��� + ��� + �� = 0

(ii) ��� + ��� + �� = 0

A

B

C

D



 The intersecting point of the lines 2� + 2� − 6 = 0 and 3� − � − 5 = 0 is-

(a) 2, 2  

(b) 2, 1

(c) −2, 13

(d) −2, 3

POLL QUESTION-01



THE ANGLE BETWEEN TWO UNPARALLEL LINES

 A

B�
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��

�



 Two lines passing through (3, 7) create an angle of 45° with the line 3� − � + 7 = 0 ;

Find the equations of lines.

MATHEMATICAL PROBLEM



 What’s the acute angle between the lines � − 2� + 1 = 0 and 3� − � + 5 = 0 ?

(a) 60°

(b) 30°

(c) 45°

(d) 135°

POLL QUESTION-02



IF PARALLEL

�� = ��

CONDITIONS FOR PARALLEL OR PERPENDICULAR LINES

IF PERPENDICULAR

��. �� = −1



(i). 5� + 4� − 1 = 0 and 2� + �� − 7 = 0 are parallel. Find the value of k.

(ii). The line connecting P(�, �), C(1, 2) is perpendicular to the line connecting A (−7, 3),

B(1, −5) ; Show that, � − � + 1 = 0

PRACTICE PROBLEM



EQUATION OF LINE UNDER VARIOUS CONDITIONS



PARALLEL OR PERPENDICULAR LINE

�� + �� + � = 0
PARALLEL LINE PERPENDICULAR LINE



 A line passes through 1, 2 and is perpendicular to the line � + � + 2 = 0; Find the 

equation of the line.

MATHEMATICAL PROBLEM



 If two lines 2� − � + 3 = 0 and 3� + �� − 2 = 0 are perpendicular, what’s the value of a ? 

(a) 4

(b) 6

(c) 4

(d) −6

POLL QUESTION-03



THE LINE PASSING THROUGH THE INTERSECTING POINT OF TWO OTHER LINES

(i) ��� + ��� + �� = 0

(ii) ��� + ��� + �� = 0



 A line passes through the point 3, 2 and the intersecting point of the lines
� − � + 4 = 0 and 2� − � + 4 = 0 ; Find the equation of the line.

MATHEMATICAL PROBLEM



 Find the equation of line which passes through the intersecting points of

5� − 9� + 13 = 0 and 9� − 5� + 11 = 0 and creates 45° angle with � axis.

MATHEMATICAL PROBLEM



 Find the equation of line which passes through the intersecting points of 

3� − 7� + 5 = 0 and � − 2� − 7 = 0 and cuts parts of same signed equal value 

from the axes. 

MATHEMATICAL PROBLEM



 Three vertices of ∆��� are A(2, 4), B(−2, 3) and C (3, −1). What’s the equation of 

the line parallel to the line BC which passes through the centroid?

(a) 4� + � + 1 = 0

(b) � − 5� + 5 = 0

(c) 4� − 5� + 14 = 0

(d) 4� + 5� − 14 = 0

POLL QUESTION-04



(i) Find the equation of line which passes through the intersecting points of

� − � − 4 = 0 ও 7� + � + 20 = 0 and also passes through the origin.

(ii) Two lines passes through the point (3, 4) And they create an angle of 60°
with the line � − � + 4 = 0 ; Find the equations of the lines.

(iii) Find the equation of line passing through the intersecting points of 
4� + 3� − 6 = 0 and � − 2� − 7 = 0 which is also parallel to � axis. 

PRACTICE PROBLEM

(iv) For any value of �, the line 2k − 3 � + 3� − 2 � − (4� − 1) = 0
passes through a certain point; Find the co-ordinate of that point. 

(v)  What’s the intersecting point of the perpendicular line drawn from the point 

(3, 1) on the line 2� + � − 3 = 0?




